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1 2 3 4 5 6 7
LLAUUBLL DUUGN 294,368.8( 239,459.5 239,459.5( 16,250.0 16,250.0 1,000.0 1,000.0
wjn pynd
LUuBUShY DUuUGN 294,368.8( 239,459.5 239,459.5( 16,250.0 16,250.0 1,000.0 1,000.0
wjn pyntd
untRURAhULEN 19,803.2 0.0 0.0| 16,250.0 16,250.0 0.0 0.0
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 19,803.2 0.0 0.0 16,250.0 16,250.0 0.0 0.0
wjn pynLd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 19,803.2 0.0 0.0 16,250.0 16,250.0 0.0 0.0
Ywagiwytnwnigntbbtpha
anuuucunNLueP 12,466.1 0.0 0.0 0.0 0.0 1,000.0 1,000.0
wjn pyntd
Apwiwp0nphbbp showgquiht Yugiwyspwnepntbueph 3,149.7 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- LOpwghy npwdw0nphbbn showqgquihl 3,149.7 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
LOpwghy npwiw0nphOtp wewnwywb hwnywdéh wy 9,316.4 0.0 0.0 0.0 0.0 1,000.0 1,000.0
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LLAUUBLL DUUGN 3,000.0 3,000.0 1,000.0 1,000.0 1,000.0 1,000.0| 3,553.2 3,553.2
wjn pynd
LUuBUShY DUuUGN 3,000.0 3,000.0 1,000.0 1,000.0 1,000.0 1,000.0| 3,553.2 3,553.2
wjn pyntd
untRURAhULEN 0.0 0.0 0.0 0.0 0.0 0.0| 3,553.2 3,553.2
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 0.0 0.0 0.0 0.0 0.0 0.0 3,553.2 3,5653.2
wjn pynLd
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LOpwghy npwiw0nphOtp wewnwywb hwnywdéh wy 3,000.0 3,000.0 1,000.0 1,000.0 0.0 0.0 0.0 0.0
Jwywnpnwybephb
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- COpwghy npwdw0nphbbp wewnwywb ng webinpuwih 3,000.0 3,000.0 1,000.0 1,000.0 0.0 0.0 0.0 0.0
Ywagiwytnwnipntbbtphb
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oLNUUBLL DUUGP 222,701.2| 49,342.5 49,342.5| 164,766.9 23,562.9| 118,100.6( 23,103.4( 8,591.8 8,591.8
wyn pyntd
OLBUShY TUUGP 171,108.7 0.0 0.0| 162,516.9 23,562.9| 118,100.6| 20,853.4( 8,591.8 8,591.8
wyn pyntd
unkpuhahuuen 171,108.7 0.0 0.0 162,516.9 23,562.9| 118,100.6| 20,853.4( 8,591.8 8,591.8
wyn pyntd
Untpuhnhwbn wbnwywb YugiwysnwnipintGGepha 171,108.7 0.0 0.0 162,516.9 23,562.9| 118,100.6| 20,853.4( 8,591.8 8,591.8
wyn pyntd
- Untpuhnhw0bn ng $hOwbuwywt wEnwywh 171,108.7 0.0 0.0 162,516.9 23,562.9| 118,100.6( 20,853.4( 8,591.8 8,591.8
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<pULuyuL Uh2nsutN 51,5692.5| 49,342.5 49,342.5 2,250.0 0.0 0.0 2,250.0 0.0 0.0
wjn pynd
cbuetN td chunt@3ntuutN 49,342.5( 49,342.5 49,342.5 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- Gklpbnh L 2hOnipnLaGEph Ywwhwwy yepwlnpngnid 49,342.5( 49,342.5 49,342.5 0.0 0.0 0.0 0.0 0.0 0.0
UbeGLULGNh G4 uureudnPrNtULGNh Q6NLRGNNEY, 2,250.0 0.0 0.0 2,250.0 0.0 0.0 2,250.0 0.0 0.0
nu<MuULNiyU B4 <hUudunrnanty
wjn pyntd
- Uy ubpbOwabp L uwppwynpniitbp 2,250.0 0.0 0.0 2,250.0 0.0 0.0 2,250.0 0.0 0.0
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LLNUUBLL DUUGP 266,659.5( 24,721.8 24,721.8| 241,937.7| 4,314.8| 179,134.2| 16,851.0| 5,455.6| 20,968.2| 3,343.8| 2,044.6| 1,313.4
wjn pynd
0LPBUSHhY TUUGN 241,828.4 0.0 0.0 241,828.4( 4,314.8 179,134.2| 16,851.0| 5,346.3| 20,968.2| 3,343.8| 2,044.6| 1,3134
wjn pyntd
untRURNRULEN 241,828.4 0.0 0.0| 241,828.4 4,314.8( 179,134.2| 16,851.0 5,346.3| 20,968.2( 3,343.8( 2,044.6( 1,313.4
wjn pynd
Untpuhnhwbp weunwlwb YugdwysnwnipintGGepha 241,828.4 0.0 0.0 241,828.4( 4,314.8 179,134.2| 16,851.0| 5,346.3| 20,968.2| 3,343.8| 2,044.6| 1,3134
wjn pyntd
- Untpuhnhwotp ng $h0wbuwywb wybnwywo 241,828.4 0.0 0.0 241,828.4( 4,314.8 179,134.2| 16,851.0| 5,346.3| 20,968.2| 3,343.8| 2,044.6| 1,313.4
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N2 $hvuvuuuuL U4shdyutNh aondy oukuueN 24,831.1| 24,721.8 24,721.8 109.3 0.0 0.0 0.0 109.3 0.0 0.0 0.0 0.0
wyn pyntd
<pULuyuL Uh2NsutN 24,831.1| 24,721.8 24,721.8 109.3 0.0 0.0 0.0 109.3 0.0 0.0 0.0 0.0
wyn pyntd
cbuetN bl chunt@3ntuutN 24,721.8| 24,721.8 24,721.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- Chlpbnh L 2hGnipynLbbEpp Yuwhwwy YyEpwbnpngned 24,721.8| 24,721.8 24,721.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UbetLULGNPh G4 uureudn,rNtULENh Q6NLRGNNIY, 109.3 0.0 0.0 109.3 0.0 0.0 0.0 109.3 0.0 0.0 0.0 0.0
nu{MULNFY BY <hULULNNNaNtU
wyn pyntd
- Uy dbpbGwbtp L uwppwynpnidbtbp 109.3 0.0 0.0 109.3 0.0 0.0 0.0 109.3 0.0 0.0 0.0 0.0
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LUuBUSHhY DUUGN 5,808.3| 1,364.6| 1,339.2
wjn pyntd
untpUhIhULEGN 5,808.3| 1,364.6| 1,339.2
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 5,808.3| 1,364.6| 1,339.2
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2 a5 s | 35| 52| 52| 33| 3 32
5 53 5 vs | vElyvEldE 5 33
: =5 [ 8 | YE|VE|VE|vs| @ E
Q-I-D = a =
1 2 4 5 6 7 8 9 10
LLAUUBLL DUUGN 184,870.3( 82,025.9 82,025.9| 4,620.4| 4,014.7 201.9] 201.9| 201.9( 98,224.0 98,224.0
wjn pynd
LUuBUSHhY DUUGN 4,620.4 0.0 0.0| 4,620.4| 4,014.7 201.9] 201.9| 201.9 0.0 0.0
wjn pyntd
untpUhIhULEGN 4,620.4 0.0 0.0| 4,620.4| 4,014.7 201.9] 201.9| 201.9 0.0 0.0
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 4,620.4 0.0 0.0| 4,620.4| 4,014.7( 201.9( 201.9| 201.9 0.0 0.0
wjn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 4,620.4 0.0 0.0 4,620.4| 4,014.7] 201.9| 201.9( 201.9 0.0 0.0
Ywagiwytnwnigntbbtpha
N2 rvUvuuvUL U4ShyucNrh aondy ouuutnN 180,249.9( 82,025.9 82,025.9 0.0 0.0 0.0 0.0 0.0 98,224.0 98,224.0
wyn pyntd
<pULuuuL UhansuenN 180,249.9| 82,025.9 82,025.9 0.0 0.0 0.0 0.0 0.0| 98,224.0 98,224.0
wyn pyntd
CEueGN G CchuNnt@B3NtLLEN 180,249.9( 82,025.9 82,025.9 0.0 0.0 0.0 0.0 0.0 98,224.0 98,224.0
wyn pyntd
- Gelptnh L 2hGnLpnLGGEph 2hGwpwpnieinLl 98,224.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 98,224.0 98,224.0
- Gtlptnh L 2hGnignLbbEph Ywwhunwy Gpwbnpngnid 82,025.9| 82,025.9 82,025.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02

fudph 04 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn

Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybywé N 5 - | Grwdujwy

Unjniuwy N 08-02-04

Unyniuwly 08-02-04

wjn pyntd puwn dpwigntiph

MEnwywl wewygntpintl
Uwlnt puih Mbunwlwl wowlgnipnL «SbnEywunywywl - MEnwywl wowygnipnth
depintéwywb b «Gplwbh
opyunlknh «LwjwunwOh wqquihb
hhaGwGnpngnLd wpluhy» MNUY-hG hwuwpwywjbnipjwb hbwn yeonwlwpwlwywb wigh»
Ywuwtph yeaunpnb» MNUY-hG
MNUY-hG
QlnwukOp
nwuh wyn pYntd pun wyn pYntd pun wjn pYntd pun wyn pYntd puwn
<nnywéh wajwbniip gniiwpp — Ywuwnwnnnbbph — Ywunwnnnbtph — Ywuwnwnnnbbph — Ywuwwnnnbtph
(hwaqun = £ g g
s | | 32 | 3| sz | 3 - | g 3
5 25 5 535 5 g5 5 5
g Se g gze g g2 g £5
5| yv&5 | % 335 3 35 3 35
he=) Vs fa) fe )] c - he=) he=) 3
2 35 2 335 2 S5 2 S 3
S 33 S S53 S Ng-] S D3
ad c 3 (] V=] ad V'3 d c
33 v 5 S 3
=1} o]
1 2 3 5 7 9
LLAUUGLL DUUGN 147,893.4| 8,117.3 8,117.3| 61,904.3 61,904.3 2,818.1 2,818.1( 44,091.7 44,091.7
wyn pyntd
QUuBUShY DUuUGN 129,123.4 0.0 0.0| 51,251.6 51,251.6 2,818.1 2,818.1( 44,091.7 44,091.7
wyn pyntd
untRURAhULEGN 109,123.4 0.0 0.0| 51,251.6 51,251.6 2,818.1 2,818.1( 44,091.7 44,091.7
wyn pyntd
Unipuhnhwtn wewnwywb Yuqiwytnpwneentabsph 109,123.4 0.0 0.0 51,251.6 51,251.6 2,818.1 2,818.1 44,091.7 44,091.7
wyn pyntd
- Untpuhnhwltn ng $hlwbuwywb wbnwywh 109,123.4 0.0 0.0| 51,251.6 51,251.6 2,818.1 2,818.1( 44,091.7 44,091.7
Ywqowytpwnipintbbnphh
anuuucunNLueP 20,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
LOpwghy npwdwzb0nphbbn wewnwywb hwunywdéh wy 20,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Gwywpnwyatphb
wyn pyntd
- U pbpwghy npwdwzbnphbtn 20,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N2 hvuvuulvuL U4sShyuNrh aonNYy oukuutN 18,770.0( 8,117.3 8,117.3| 10,652.7 10,652.7 0.0 0.0 0.0 0.0
wjn pyntd
<pULuuuuL UhansuenN 18,770.0( 8,117.3 8,117.3| 10,652.7 10,652.7 0.0 0.0 0.0 0.0
wyn pyntd
CEueGN G CchuNnt@B3NtLLEN 8,117.3| 8,117.3 8,117.3 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
- Gtlptnh L 2hGnigntGbEph Ywwhunwy yGpwbnpngnid 8,117.3| 8,117.3 8,117.3 0.0 0.0 0.0 0.0 0.0 0.0
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Unyniuwly 08-02-04

1 2 4 5 8

UbRELULENh B4 UUNRUUNNNFULENh Q6NRRENNEU, 10,652.7 0.0 0.0] 10,652.7 10,652.7 0.0 0.0 0.0 0.0
aULMULNEU BU pULULNNNGNEU

wjn pyntd

- Uy, 0bpkawaEn L uwppwydnpnudGen 10,652.7 0.0 0.0 10,652.7 10,652.7 0.0 0.0 0.0 0.0
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«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4
optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 04 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

wyn pYnLd puwn dpwantiph

MEnwywl wowygnipntl
«dnnnypnwywb
untndwgnndntpwl L
wphBunwgnpénLpwl
yaunpnb» MNUY-hG

MGwnwywl wowygnipyntl
«Uwynipwiht wpdtpbbph
thnpdwghunwywl
ythunpnb» MNUY-hG

GplwOh hwdwpwnwpwihl
GwlwynLpywb dwiuubn

wjn pYntd puwn wyn pYntd pun wyn pYntd puwnn
<nnywéh wajwbniip — Ywunwnnnbtph — Jwuwwnnnbtph — Ywuwnwnnnlbph
& & & =
3 2 3 2 3 3
c c c c c c =4
2 zs 2 == 2 .2
cC C cC C
z 35 e 35 z 3%
3 S & 3 S & 3 c 3
£ G2 £ G2 £ 53
ad V'3 a Vv '3 ad -
S S 3
(o1}
10 11 12 13 14 15
LLAUUGLL DUUGN 5,086.9 5,086.9( 5,875.1 5,875.1| 20,000.0 20,000.0
wyn pynty
QUuBUShY DUuUGN 5,086.9 5,086.9( 5,875.1 5,875.1( 20,000.0 20,000.0
wyn pyntd
untRURAhULEGN 5,086.9 5,086.9( 5,875.1 5,875.1 0.0 0.0
wyn pyntd
Unipuhnhwtn wewnwywb Yuqiwytnpwneentabsph 5,086.9 5,086.9( 5,875.1 5,875.1 0.0 0.0
wyn pyntd
- Untpuhnhwltn ng $hlwbuwywb wbnwywh 5,086.9 5,086.9( 5,875.1 5,875.1 0.0 0.0
YuaquwytpwnipntGbepha
anuuucunNLueP 0.0 0.0 0.0 0.0 20,000.0 20,000.0
wyn pyntd
LOpwghy npwiw0nphOtp wenwywb hwnywdh wy 0.0 0.0 0.0 0.0 20,000.0 20,000.0
Gwywpnwyatphb
wyn pyntd
- Uj| pbpwghy npwdwbnphbtp 0.0 0.0 0.0 0.0 20,000.0 20,000.0
N2 hvuvuulvuL U4sShyuNrh aonNYy oukuutN 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
<pULuuuuL UhansuenN 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
CEueGN G CchuNnt@B3NtLLEN 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
- Gtlptnh L 2hGnignLbbEph Ywwhunwy Epwbnpngnid 0.0 0.0 0.0 0.0 0.0 0.0

Unyniuwly 08-02-04



G9¢

10 11 12 13 14 15
uGecuuutNh 64 uurLudnMrNiULENh Q6NLRGNNEY, 0.0 0.0 0.0 0.0 0.0 0.0
nu{nuLNiy 64 <pyuunrNanty
wjn pyntd
- W vbptOwltn L uwppwynpnidbtn 0.0 0.0 0.0 0.0 0.0 0.0

Unyniuwly 08-02-04
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optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 05 nwuh dpwantinh gény hwutnwwnywé hwinbwgntittph Ytpswanuit puwn Unjniuwy N 08-02-05
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

wyn pYntd puwn dpwgntinh
MNEnwywl wowygnipntl Mewwlw w
owygnipyntl
Uowinupuh opslunGtpp | «Uk-UwEinhwnwlh wlywl - o o gonuoh wodue |- 0wl wowlgnupintl wi)
owbtpwih L pwitwnp pwuinpnb0Gnh0 L hwdkpquihl
hhdOGwOnpngntd wagqwihbt wywnGdhwywb
wagqwihbt wywnGdhwywb NGy MNUY-hG JuaquwytpwnipntGbephb
pwwnpnO» MNUY-hG
LOnwakh
rr.:lbuuuh L wjn pYntd puwn wjn pYntd puwn wjn pYntd puwn wjn pYntd pun
Znnywéh woywanidp gnLawnp = Jwuwwpnnlbph z JwuwnwpnnbGph z Jwuwwpnnlbph z Jwuwnwpnnlbph
(hwquin 5 =o 5 - 5 - g - 3
npwdttnnd) | 3 32 2 - 2 - z < g
© = [ 2, [ 2, [ g [ - g
o S =S = S =SS
S S € S c c S cc S c c S
3 vE§3 3 35 3 35 3 35 | 23
3 3 < 3 S 3 S 3 S 2 3
g % 3 g 3 g 3 g 3 Do
g 22 g y2 g ¥ 2 & Y2 2
3 3
Q-I-D = = = 2
1 2 3 4 5 6 7 8 9 10
LLAUUBLL DUUGN 630,815.6( 12,500.0 12,500.0( 117,298.6 117,298.6( 52,950.7 52,950.7| 306,674.6| 250,057.2| 37,222.9
wyn pyntd
LUuBUSHhY DUUGN 618,315.6 0.0 0.0| 117,298.6 117,298.6( 52,950.7 52,950.7| 306,674.6| 250,057.2| 37,222.9
wjn pyntd
untRURAhULEN 599,809.1 0.0 0.0| 117,298.6 117,298.6( 52,950.7 52,950.7| 306,674.6| 250,057.2| 37,222.9
wyn pyntd
UnipuhnhwObn wewnwywb Yugdwytnpwneegntabspho 599,809.1 0.0 0.0| 117,298.6 117,298.6( 52,950.7 52,950.7| 306,674.6| 250,057.2| 37,222.9
wjn pyntd
- Untpuhnhwltn ng $howbuwywb wbnwywh 599,809.1 0.0 0.0 117,298.6 117,298.6( 52,950.7 52,950.7| 306,674.6| 250,057.2| 37,222.9
JuaquwytpwnipntGbephb
unshuLu4yuuLu LMUUSLEN B4 YEuuurNoUYwLEN 13,506.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Unghwijwywl ogbntpjwlb npuwdwywl wpunwhwpnnipwdp 13,506.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Owwuwnbbn (pntothg)
wyn pyntd
- Uppwywa, dowynipwihlb L uynpunwiht Gwwuwnbbn pniobihg 13,506.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
usL dumnutnN 5,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Lyhpwwnynigntbbbn ng yuwrwywnswywb (hwuwpwyuwywh) 5,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
wyn pyntd
- Lyhpwwunynieyntbotin wy whnyp shGnwwbnnn 5,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
N2 hvUuuyuUL UuShduNrh aond oukuutnN 12,500.0( 12,500.0 12,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd




19¢€

Unyntuwy 08-02-05

1 2 3 4 6 8 10
<hULULUL UhaNsLEN 12,500.0( 12,500.0 12,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd

CGULRGN 6U chUNHB3NFLLEN 12,500.0{ 12,500.0 12,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

- ChOptph L 2h0nLpnLhGEph Yuwhuinwy YEpwanpngntd 12,500.0{ 12,500.0 12,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02

fudph 05 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

Unyntuwy 08-02-05

wyn pyntd puwn dpwigntinh

MEnwywl wowygnipntb
wy)| pwwnpnblBphl L

hwibpquihb

Ywgdwytpwnintbbtnh

MGunwywl wowygnipyintd dowynipwiht thongwreniibtph hpwywbwgdwbp

wjn pYntd puwn

wjn pYntd puwn

Znnywéh woywanidp Ywuwnwnnnbtph z Jwuwnwnnnbtph
.

'& [ ] [ ] [ ] § < ‘:E’ 5s < S . '& S [ ] S [ ] S . S
23| 2| 52| B s |22 2| €2 52| 2| s3] 2| 52| €2 <2
c 3 3'3 = 3 = cc g3 33 =3 c 3 c 3 33 3'3 < 3 S 3 Z 3
25 5 25 ) = 35S S 35 25 gs 55 S 25 o5 =5
55 c B c B = 3 3 oD 3B S B 55 5B 25 c b c 5 5 3B
=3 03 >3 3 S & 33 S3 | 53 =3 | v3I| 53| o3 >3 33| & 3
5 © v o v g = 3 o 3o IS 5 T v o g v o V= 3 T v g
g s v S J & = =1 5 < c v s g s c NVa= v S J < NE=: J &
N 3 3 a v 3 3 Y 3 < 3 N 3 3 3 3 g 3 3
N, fen ] fen ] fen ] S N he fen b= N fen fen ] he fen ] fen b= fen
11 12 13 14 15 16 17 18 19 20 21 22 23 24 25

LLAUUBLL DUUGN 5,214.4| 9,289.9| 4,890.2| 122,885.2| 115,431.0| 655.6 639.1| 512.7| 655.6( 708.5( 480.8| 691.5| 1,434.3| 987.7| 688.4

wyn pyntd

LUuBUSHhY DUUGN 5,214.4| 9,289.9| 4,890.2| 122,885.2| 115,431.0| 655.6 639.1| 512.7| 655.6( 708.5| 480.8| 691.5| 1,434.3| 987.7| 688.4

wyn pyntd

untRURAhULEN 5,214.4| 9,289.9| 4,890.2| 122,885.2| 115,431.0| 655.6 639.1| 512.7| 655.6( 708.5( 480.8| 691.5| 1,434.3| 987.7| 688.4

wyn pyntd

UnipuhnhwObn wewnwywb Yugdwytnpwneegntabspho 5,214.4| 9,289.9| 4,890.2| 122,885.2| 115,431.0| 655.6 639.1| 512.7| 655.6( 708.5| 480.8| 691.5| 1,434.3| 987.7| 688.4

wjn pyntd

- Untpuhnhwltn ng $howbuwywb wbnwywh 5214.4| 9,289.9| 4,890.2| 122,885.2| 115,431.0| 655.6( 639.1| 512.7| 655.6( 708.5( 480.8| 691.5| 1,434.3| 987.7| 688.4

JuaquwytpwnipntGbephb

unshuLu4yuuLu LMUUSLEN B4 YEuuurNoUYwLEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

wyn pyntd

Unghwjwywb oglntpjwb npuiwlwh wpunwhwjuinnepjwudp 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

Owwuwnbtn (pinotihg)

wyn pyntd

- Uppwlwl, dwynipwihb L uwnpunwihb GuwuwnGep pneetihg 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

usL dumnutnN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

wyn pyntd

Lyhpwwnynigntbbbn ng yuwrwywnswywb (hwuwpwyuwywh) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

YuaquwytpwnipntGbepha

wyn pyntd

- Lyhpwwunynieyntbotin wy whnyp shGnwwbnnn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

YuaquwytpwnipntGbepha

N2 hvUuuyuUL UuShduNrh aond oukuutnN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

wjn pyntd




69¢€

Unyntuwy 08-02-05

11 12 13 14 15 16 17 18 19 20 21 22 23 24 25
<hULULUL UhaNsLEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd

CGULRGN 6U chUNHB3NFLLEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

- ChOptph L 2h0nLpnLhGEph Yuwhuinwy YEpwanpngntd 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4

optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02

fudph 05 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

wyn pYntd puwn dpwantiph

MGunwywl wowygntpintl
@phihuhh M. Unwdjwbh
wOywl pwuinpnbhG

«dnnnypnwywly wywuwnywynn
ynsdwl wpdwlwgwé whdwbg
wiblwduw wywwnynyLwn

wyjn pUNnLd pun wjn pYntd pun
Znnywéh woywanidp z Jwuwnwpnnlbph z Jwuwnwpnnlbph
& g =_3
2 s E 2 |25 _333s
= L 0 =
o §c 2 S 3252852,
B 5¢ 5 REESS 3355
] S o 3 e ] c c S =] L 3 -
3 S cc 3 Eee333833
= 353 = 33z5333E&5
S A1 & |233°35:zE&3
d v 3 d 5 3 3355
S J - 3
=
26 27 28 29
LLAUUBLL DUUGN 5,000.0 5,000.0( 13,506.5 13,506.5
wyn pyntd
LUuBUSHhY DUUGN 5,000.0 5,000.0( 13,506.5 13,506.5
wjn pyntd
untRURAhULEN 0.0 0.0 0.0 0.0
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 0.0 0.0 0.0 0.0
wjn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 0.0 0.0 0.0 0.0
JuaquwytpwnipntGbephb
unshuLu4yuuLu LMUUSLEN B4 YEuuurNoUYwLEN 0.0 0.0| 13,506.5 13,506.5
wyn pyntd
Unghwijwywl ogbntpjwlb npuwdwywl wpunwhwpnnipwdp 0.0 0.0 13,506.5 13,506.5
Owwuwnbbn (pntothg)
wyn pyntd
- Uppwywa, dowynipwihb L uynpunwiht Gwwuwnbtn pnwekihg 0.0 0.0 13,506.5 13,506.5
usL ouwugP 5,000.0 5,000.0 0.0 0.0
wyn pyntd
Lyhpwwnynigntbbbn ng yuwrwywnswywb (hwuwpwyuwywh) 5,000.0 5,000.0 0.0 0.0
YuaquwytpwnipntGbepha
wyn pyntd
- Lyhpwunynipintbbep wy whnyp shGunwwlnnn 5,000.0 5,000.0 0.0 0.0
YuaquwytpwnipntGbepha
N2 hvUuuyuUL UuShduNrh aond oukuutnN 0.0 0.0 0.0 0.0
wjn pyntd

Unyntuwy 08-02-05



(A

26 27 28 29
<pULuuuu unh2nsuenN 0.0 0.0 0.0 0.0
wjn pynd
CELRGN G CchuNtEB3NFLLEN 0.0 0.0 0.0 0.0
wjn pyntd
- Celptnh L 2hGnipnLbbEph Ywwhuwnwy yEpwbnpngnid 0.0 0.0 0.0 0.0

Unyntuwy 08-02-05
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optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 06 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybywé N 5 - | Grwdujwy

Unyntuwy N 08-02-06

Unyntuwy 08-02-06

wyn pYntd puwn dpwigntinh

MEnwywb wewygnipntl

Uqqujhl YhGnépwantiph

JuaquwytpwnipntGbephb

Menwywl wowygnipntl yhbEdwuinngnwd hwih hpwywlwgdwb Gwywunwyny
yhunGywnbbpp nnpunned wy wEnwywb wowygnipntl
wnuwnpniywbn SwrwjnLpnLbbtph «Lwjwunwbh wqgquih
hpwywlwgdiwp ynhbnytbwpnb» MAUY-hG
LOnwikOp
nwuh wjn pYntd puwn wjn pYntd puwn wjn pYntd puwn
Znnywéh woywanidp gnLawnp z Jwuwwpnnlbph z Jwuwnwpnnbbph z Jwuwnwpnnbbph
(hwqun & & g
npwatennd) - 2 < g 2 < ¢ 2 <
cl c & cl c & el ] c &
3 S s 3 S s 3 S s
g 3 g 3 5 3
g y2 g ¥ 5 g Y5
= = =
1 2 3 4 5 6 7
puUUBLL SUUGN 120,542.7| 90,920.4 90,920.4| 10,8324 10,832.4 18,789.9 18,789.9
wjn pynd
puEUShY DUUGN 120,542.7| 90,920.4 90,920.4| 10,8324 10,832.4 18,789.9 18,789.9
wjn pyntd
untRURAhULEN 120,542.7| 90,920.4 90,920.4| 10,8324 10,832.4 18,789.9 18,789.9
wjn pynd
UntpupnhwOtbp wtwnwywo Yugdwybpwnipniabtph 120,542.7| 90,920.4 90,920.4| 10,8324 10,832.4 18,789.9 18,789.9
wjn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 120,542.7| 90,920.4 90,920.4] 10,8324 10,832.4 18,789.9 18,789.9




€€

«LwjwunwOh <wipwwbunnipub 2008 pwywih wbnwywb pnieth dwuhb» ££
optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02

fudph 07 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwbnidb pun

Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybywé N 5 - | Grwdujwy
Unjniuwy N 08-02-07

Unyntuwy 08-02-07

wyn pYnLd puwn dpwantinh

Bphthuhntd gunbGdnn hwy

MNEnwywh wewygnipintl

annnOtnph wwobpknbh «Mwundwiwyntpwihl 4nLpwndwblbph
wwhwwOdwh dwrwlgnipwl Jbpwywbgbowb gény Uggﬁgaaﬁgﬁﬁué&uﬁﬁﬁgu
Owwunwyny wewnwywb ghunwhGunwgnunuwywb wEwnwywl ywwnybn
wowygntpintl yGaunpnb» MAUY-hG
DDHLUSEDD wyn pYntd pun wjn pYntd puwn wjn pYntd puwn wjn pYntd puwn
Znnywéh woywanidp gnLawnp z Jwuwnwpnnltph = Jwuwnwpnnbbph z JwuwnwpnnbGph z Jwuwwpnnlbph
(hwaqup 5 & & g S
nnwddtnnd) 2 s & 2 < 2 2 < g 2 2
0 -V =8 2 =2 | 2 o
S 3 €< > c c = c c S =
3 5§85 3 35 2 35 2 35
3 segs 3 S & 3 S & 3 c 3
5 3§53 5 = 3 5 = 3 5 D &
d N % d v % a M % a 3
S S S 3
(o1}
1 2 4 5 6 7 8 9
LLAUUBLL DUUGN 164,086.0| 1,000.0 1,000.0 11,086.0 11,086.0| 150,000.0 150,000.0( 2,000.0 2,000.0
wyn pyntd
LUuBUSHhY DUUGN 12,086.0( 1,000.0 1,000.0 11,086.0 11,086.0 0.0 0.0 0.0 0.0
wjn pyntd
untRURAhULEN 11,086.0 0.0 0.0 11,086.0 11,086.0 0.0 0.0 0.0 0.0
wyn pyntd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 11,086.0 0.0 0.0 11,086.0 11,086.0 0.0 0.0 0.0 0.0
wjn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 11,086.0 0.0 0.0 11,086.0 11,086.0 0.0 0.0 0.0 0.0
JuaquwytpwnipntGbephb
u3L ouwugP 1,000.0| 1,000.0 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pynty
Ldhpwunynipyintbbbn ng Yurwywnswywb (hwuwpwywywl) 1,000.0| 1,000.0 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtpha
wyn pyntd
- LyhpwunynipyntbOtip wy whnyp shGunwwlnnn 1,000.0| 1,000.0 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0
JuaquwytpwnipntGbephb
N2 rvUvuuvUL U4ShyucNrh aondy ouuutnN 152,000.0 0.0 0.0 0.0 0.0] 150,000.0 150,000.0( 2,000.0 2,000.0
wyn pyntd
<pULuuuL UhansuenN 152,000.0 0.0 0.0 0.0 0.0 150,000.0 150,000.0| 2,000.0 2,000.0
wyn pyntd
CELLGN G chuNnt@3NFLLEN 62,000.0 0.0 0.0 0.0 0.0 60,000.0 60,000.0| 2,000.0 2,000.0
wyn pyntd
- GtGpbnh L 2hGnignbbeph 2hGwpwpnignLh 60,000.0 0.0 0.0 0.0 0.0 60,000.0 60,000.0 0.0 0.0




Vi€

Unyntuwy 08-02-07

1 2 6 7 8

- ChOptph L 2hGnLpnLbGbph Yuwhuiwy YEpwinpngnt 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0] 2,000.0 2,000.0
usL <~ULUYUL Uh2NsuEn 90,000.0 0.0 0.0 0.0 0.0[ 90,000.0 90,000.0 0.0 0.0
wjn pyntd

- Lwuwgdwhbinwgnunwwb swiuutn 90,000.0 0.0 0.0 0.0 0.0] 90,000.0 90,000.0 0.0 0.0
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optlph 7-nn. hnndwény pjnuobinwhl swiuubph gnpéwrliwywl nwuwywngiwb 08 pwdth 03

fudph 01 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybywé N 5 - | Grwdujwy

Unjntuwy N 08-03-01

Unyntuwly 08-03-01

wyn pyntd puwn dpwignbiph

Gnpéwnhp h2luwbnipua,
wewnwywb Yuwrwywndwb
hwlpwwbtwnwywi L
nwpwdpwht Yuwrwywnpiwb
dwndhbOsph wwhwwlnid

LGrntunnwhwnnpnniibbph
wwuwuinpwuindwd b hGrwpdwydwo
Owwunwyny wewnwywb
wowygnipintl «{wyjwuwnwbh
hwOpwjhG
hGrniunwpOyspnieinLl» ORLC - hh

Nwnhnhwnnpnntdbbph
wwwnpwuwndwb b
hGrwpdwydwb Gwywwnwyny
wenwywl wewygnipntl
«LwjwunwOh hwbpwihG
rwnhnpbayGpnigntt» ©RLO - hi

AGruubG wyn pYntd pun wyn pYntd pun wyn pYnLd pun
nw " D YwuwwpnnGbph YwuwwpnnGbph YwuwnwpnnGbph
nwu

<nnywish waywalnidp gniiwnp —- 3 — 3 —- 3
twnun | E |2 |2E | B 22 - |z
nnwdtbpnd) | § e 3E S 3 E 3 3E
5 32| §5 5 S5 5 S5
ol Sgeg| 32¢E o 32 € o 32E
=} B ES) = c = =} N c = =} N c =
3 c33| s<E 5 SE£E 3 S &
3 3E2| S5°€¢ 3 EERS 3 EERS
= c o c 2 c 3 =
S S %‘:’ SE&E=2 S S§=2 S S§=2
d] ) 3 > 3 d] =} 3 (d] > 3
£3€| 35 35 35
o 5 35 3 35 3 35
V2 2 S £\ s N\ s
2 2 2
1 2 3 4 5 6 7 8
pLAUUGLL DUuUGN 834,224.3( 37,961.5( 21,094.3| 16,867.2 575,546.9 575,546.9 172,943 .1 172,943.1
wyn pyntd
LULBUSHhY DUUGN 834,011.3( 37,961.5( 21,094.3| 16,867.2 575,546.9 575,546.9 172,943.1 172,943.1
wyn pyntd
uchuusuueh yurusrni@3ntu 29,436.1| 29,436.1| 17,584.8| 11,851.3 0.0 0.0 0.0 0.0
wyn pyntd
Mwdny JAwnpynn wziuwwnmwywnpébn b hwdGjudgwnbbn 25,863.2| 25,863.2| 15,489.7| 10,373.5 0.0 0.0 0.0 0.0
wjn pynd
- UpuwuwnnnlObph wuwwnwywndbn b hwybwyfwpbbn 20,992.7| 20,992.7| 10,619.2( 10,373.5 0.0 0.0 0.0 0.0
- Pwnwpwghwywl, nwunwywb b yenwwl wy 4,870.5| 4,870.5| 4,870.5 0.0 0.0 0.0 0.0 0.0
Swrwjnnubph wwpglwwnpnid
Quwuwnwgh unghwjwywl wwwhnynipjwb yswnbbp 3,572.9( 3,572.9| 2,095.1 1,477.8 0.0 0.0 0.0 0.0
(gnpéwunnth Ynndhg)
ounusnt@3ntuuNrh G4 UNNPULLLENh QENLRGNNFU 20,911.0|1 8,309.4| 3,293.5| 5,015.9 0.0 0.0 0.0 0.0
wjn pynLd
Cwpnibwywywb Swiuukn 3,323.7| 3,323.7| 1,580.6| 1,743.1 0.0 0.0 0.0 0.0
wyn pyntd
- toGpgbuinhy Swrwynigntbbbn 628.5 628.5 628.5 0.0 0.0 0.0 0.0 0.0
- UnintOw| SwrwjnipintblGn 27.8 27.8 27.8 0.0 0.0 0.0 0.0 0.0
- Ywuwh Swrwjnieintbbbn 1,949.8| 1,949.8 924.3| 1,025.5 0.0 0.0 0.0 0.0
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Unyntuwly 08-03-01

1 2 3 4 5 6 7 8
- @nuph L uwppwynpniibbph ywpdwywinipnta 717.6 717.6 0.0 717.6 0.0 0.0 0.0 0.0
Anpéninnuibbph L 2powgquinipintbbbph dwiuubp 2,601.6| 2,601.6 201.6| 2,400.0 0.0 0.0 0.0 0.0
Muwjdwbwagnuih0 wy Swewnigyntbbph dGrppbpnid 12,831.6 230.0 130.0 100.0 0.0 0.0 0.0 0.0
wyn pyntd
- SbnGYwwnywywb swewjnipyntbOtn 12,631.6 30.0 30.0 0.0 0.0 0.0 0.0 0.0
- LEpYwywgnigswywb swiuubp 200.0 200.0 100.0 100.0 0.0 0.0 0.0 0.0
LOpwghy Gnpngned L wwhwwOnid (Swewjnipintaabn L 400.4 400.4 300.4 100.0 0.0 0.0 0.0 0.0
Qynupkin)
wjn pyntd
- Ubptbwatph L uwppwynnpniibbph ppwghy Gnpngned L 400.4 4004 300.4 100.0 0.0 0.0 0.0 0.0
wwhww(nid
Ujniptin 1,753.7| 1,753.7| 1,080.9 672.8 0.0 0.0 0.0 0.0
wyjn pyntd
- Qpwublwywhb Wneetn L hwgniuwn 323.7 323.7 263.7 60.0 0.0 0.0 0.0 0.0
- Spwluwnpuwhb Onipbn 1,412.8| 1,412.8 800.0 612.8 0.0 0.0 0.0 0.0
- UGagwnwihb L hwbOpwihb ubGnh OneRtN 17.2 17.2 17.2 0.0 0.0 0.0 0.0 0.0
untpUhAhULEGN 8,110.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Untpuhnhwbtbp wtnwywb YuwqiwybpwnipintGGephb 8,110.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pynty
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 8,110.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtpha
anuuucunNPLuen 775,337.8 0.0 0.0 0.0 575,546.9 575,546.9 172,943.1 172,943.1
wyn pyntd
LOpwghy npwiw0nphOtn wenwywb hwnywdéh wy 703,239.6 0.0 0.0 0.0 505,948.7 505,948.7 170,443 .1 170,443.1
Jwywpnwybepho
wyn pyntd
- COpwghy npwdwbnphbbp wewnwywb webnpwih 703,239.6 0.0 0.0 0.0 505,948.7 505,948.7 170,443.1 170,443.1
Ywagiwytnwnigntbbtpha
Ywwhuw) nhwdwb0nphbbn wewnwywb hwunygwéh wy 72,098.2 0.0 0.0 0.0 69,598.2 69,598.2 2,500.0 2,500.0
Jwywnpnwybephb
wyn pyntd
- Ywwhwnw npwiw0nphbbp wenwywl webnpuihb 72,098.2 0.0 0.0 0.0 69,598.2 69,598.2 2,500.0 2,500.0
YuaquwytpwnipntGbepha
unshuLu4yuu uMuUUSLEN B4 ysuuuNouuwLLN 216.0 216.0 216.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 216.0 216.0 216.0 0.0 0.0 0.0 0.0 0.0
Owwuwnbtn (pnLotihg)
wyn pyntd
- W Gwywuinbtp pintothg 216.0 216.0 216.0 0.0 0.0 0.0 0.0 0.0
N2 hvuvuulvuUL U4sShyuNrh @onN4y oukuutN 213.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
<pULuuuu UuhansuenN 213.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

wjn pyntd
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Unyntuwly 08-03-01

1 2 3 4 8
uGecuuutNh 64 uurLudnMrNiULENh Q6NLRGNNEY, 213.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
nu{nuLNiy 64 <pyuunrNanty
wjn pyntd
- W vbptOwltn L uwppwynpnidbtn 213.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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optlph 7-nn. hnndwény pjnuobinwhl swiuubph gnpéwrliwywl nwuwywngiwb 08 pwdth 03
fudph 01 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

Unyntuwly 08-03-01

wyn pYnLd puwn dpwantiph
NwnhnhGrniutnnwunbuwhl {wuwpwywywb Yupshph MGinwywl wowygnipntl
hwnnpnniitEph ywunpwundwb b hbnr:igrnntfmﬂwmr?nb?lﬁuﬁfl W nruntdbwuppiwl Gwwwnwyny «SOunGuwywb
hErwpdwydiwl Guywwnwyny NNOULLNNL R wEwnwywh wewygnipntb pwpbGthnfunidbtph
gnnénLbbnLpjwb dwiuutnnid
whinwywl wowygnipintt «Chpwyh QuwunwGh <wlnpwwbnnpwa «{wuwpwwywb Ywnshph ybpintswywo
hwOpwihb hEentutnwrwnhn» ORLC SwubwpwdhG nruntdOwuhpdw YhuinpnG» wnbntYwunywywh
-0 R OPL-hG YGLPNG» MNUY-NG
wjn pYnLd puwn wyn pYnLd pun wjn pYntd puwn wjn pYntd pun
Ywuwnwnnnbbph Ywuwnwnnnbbph Ywuwnwnnnlbph Jwuwwnnnltph
<nnywish waywalnidp — 3 —- - 3 —
c = c c = c
5 £z 5 5 £z 5 -
3 3 E 3 = 3 3 E 3 e
5 £5 5 §5 5 £5 5 zg
o 3ZE b= Zz = 32 & o =
=] c == =} =] < == S 3
5 c & CE 5 =5 5 cE&E 5 3
3 S < =1 3 3 =] S=< =1 = S
3 33E 3 S5 3 33 E 3 33
I~ EE&5 = 3 = Ee&3 = &35
a 3 a v35 a 3 a 55
3 3 32 v
Y & V&
L L
< <
9 10 11 12 13 14 15 16
pLAUUGLL DUuUGN 5,740.5 5,740.5 18,607.3 18,607.3 2,500.0 2,500.0| 8,323.4 8,323.4
wyn pyntd
LULBUSHhY DUUGN 5,740.5 5,740.5 18,607.3 18,607.3 2,500.0 2,500.0( 8,110.4 8,110.4
wyn pyntd
uchuusuueh yurusrni@3ntu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Mwdny JAwnpynn wziuwwnmwywnpébn b hwdGjudgwnbbn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
- UpuwuwnnnlObph wuwwnwywndbn b hwybwyfwpbbn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Pwnwpwghwywl, nwunwywb b yenwwl wy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Swrwjnnubph wwpglwwnpnid
Quwuwnwgh unghwjwywl wwwhnynipjwb yswnbbp 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
(gnpéwunnth Ynndhg)
ounusnt@3ntuuNrh G4 UNNPULLLENh QENLRGNNFU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynLd
Cwpnibwywywb dwfuubn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- toGpgbuinhy Swrwynigntbbbn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- UnintOw| SwrwjnipintblGn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Ywwh dwrwjnipiNLbO6n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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Unyntuwly 08-03-01

9 10 11 12 13 14 15 16
- @nuph L uwppwynpnibbph yupdwywinipinta 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Qnpéninniibtnh L 2powquynipntbbbph wfuubn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Muwjdwbwagnuih0 wy Swewnigyntbbph dGrppbpnid 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- SbnGYwwnywywb swewjnipyntbOtn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- LEpYwywgnigswywb swiuubp 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
LOpwghy Gnpngned L wwhwwOnid (Swewjnipintaabn L 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Qynupkin)
wjn pyntd
- Ubptbwatph L uwppwynnpniibbph ppwghy Gnpngned L 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wwhww(nid
Ujniptin 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- Qpwubluywihb Gneebp L hwagniuwn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Spwluwnpuwhb Onipbn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- UGagwnwihb L hwbOpwihb ubGnh OneRtN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
untrUbLAhULEN 0.0 0.0 0.0 0.0 0.0 0.0 8,104 8,110.4
wyn pyntd
UntpuhnhwObn wewnwywb Yuqiwybnpwneentabspho 0.0 0.0 0.0 0.0 0.0 0.0 8,110.4 8,110.4
wyn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 0.0 0.0 0.0 0.0 0.0 0.0 8,110.4 8,110.4
JuqiwytpwnipntGbephb
anuuucunNPLuen 5,740.5 5,740.5 18,607.3 18,607.3 2,500.0 2,500.0 0.0 0.0
wyn pyntd
LOpwghy npwiw0nphOtn wenwywb hwnywdéh wy 5,740.5 5,740.5 18,607.3 18,607.3 2,500.0 2,500.0 0.0 0.0
dwywnpnwybtnhb
wyn pyntd
- COpwghy npwdwbnphbbp wewnwywb webnpwih 5,740.5 5,740.5 18,607.3 18,607.3 2,500.0 2,500.0 0.0 0.0
JuqiwytpwnipntGbephb
Ywwhuw) nhwdwb0nphbbn wewnwywb hwunygwéh wy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Jwywnpnwybephb
wyn pyntd
- Ywwhwnw npwiw0nphbbp wenwywl webnpuihb 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
unshuLu4yuu uMuUUSLEN B4 ysuuuNouuwLLN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Owwuwnbtn (pnLotihg)
wyn pyntd
- W Gwywuinbtp pintothg 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N2 hvuvuulvuUL U4sShyuNrh @onN4y oukuutN 0.0 0.0 0.0 0.0 0.0 0.0 213.0 213.0
wyn pyntd
<pULuuuu UuhansuenN 0.0 0.0 0.0 0.0 0.0 0.0 213.0 213.0

wjn pyntd
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Unyntuwly 08-03-01

10

11

12

13

14 15 16
uGecuuutNh 64 uurLudnMrNiULENh Q6NLRGNNEY, 0.0 0.0 0.0 0.0 0.0 0.0 213.0 213.0
nu{nuLNiy 64 <pyuunrNanty
wjn pyntd
- W vbptOwltn L uwppwynpnidbtn 0.0 0.0 0.0 0.0 0.0 0.0 213.0 213.0
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optlph 7-nn. hnndwény pjnuobinwhl swiuubph gnpéwrliwywl nwuwywngiwb 08 pwdth 03
fudph 01 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

wyn pYntd puwn dpwigntinh

MGwnwywh ghnuibbph
hpwwwpwywjbnipjwb
wwwhnydwb gény
wEwnwywl wwuwnybp

wjn pYntd puwn

Ywuwnwnnnbbph
<nnwéh wodwhnidp —
=
f 3 g
& cc&
g 53¢
S2
= 253
3 g cc
= 22 3
[ )
a o =
v 3
V4 S
17 18
pLAUUGLL DUuUGN 12,601.6 12,601.6
wyn pyntd
LULBUSHhY DUUGN 12,601.6 12,601.6
wyn pyntd
uchuusuueh yurusrni@3ntu 0.0 0.0
wyn pyntd
Apwind YAwnynn wuwwnwywndbp b hwybwyfwpbbn 0.0 0.0
wjn pynd
- UpuwuwnnnlObph wuwwnwywndbn b hwybwyfwpbbn 0.0 0.0
- Pwnwpwghwywl, nwunwywb b yenwwl wy 0.0 0.0
Swrwjnnubph wwpglwwnpnid
Quwuwnwgh unghwjwywl wwwhnynipjwb yswnbbp 0.0 0.0
(gnpéwunnth Ynndhg)
ounusnt@3ntuuNrh G4 UNNPULLLENh QENLRGNNFU 12,601.6 12,601.6
wjn pynLd
Cwpnibwywywb dwfuubn 0.0 0.0
wyn pyntd
- Ebbpgbuinhy swrwjnipintGbbn 0.0 0.0
- UnintOw| SwrwjnipintblGn 0.0 0.0
- Ywwh dwrwjnipiNLbO6n 0.0 0.0
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- Qnyph L uwnpwynpnidbeph Jwpdwywintpinta 0.0 0.0
Anpéninnuibbph L 2powgquinipintbbbph dwiuubp 0.0 0.0
Muwjdwbwagnuih0 wy Swewnigyntbbph dGrppbpnid 12,601.6 12,601.6
wyn pyntd
- SbnGYwwnywywb swewjnipyntbOtn 12,601.6 12,601.6
- LEpYwywgnigswywb swiuubp 0.0 0.0
LOpwghy Gnpngned L wwhwwOnid (Swewjnipintaabn L 0.0 0.0
Qynupkin)
wjn pyntd
- UbpbOwotnh L uwppwynpnidlbph pbpwghy Gnpngned L 0.0 0.0
wwhww(nid
Ujniplp 0.0 0.0
wyjn pyntd
- Qpwubluywihb Gneebp L hwagniuwn 0.0 0.0
- Spwluwnpunuwihb Ojneptn 0.0 0.0
- UGagwnwihb L hwbOpwihb ubGnh OneRtN 0.0 0.0
untpUhAhULEGN 0.0 0.0
wyn pyntd
Untpuhnhwbtbp wtnwywb YuwqiwybpwnipintGGephb 0.0 0.0
wyn pynty
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 0.0 0.0
Ywagiwytnwnigntbbtpha
anuuucunNPLuen 0.0 0.0
wyn pyntd
LOpwghy npwiw0nphOtn wenwywb hwnywdéh wy 0.0 0.0
Jwywpnwybepho
wyn pyntd
- COpwghy npwdwbnphbbp wewnwywb webnpwih 0.0 0.0
Ywagiwytnwnigntbbtpha
Ywuwhwwy npwidwtnphbbp wEunwywb hwunygwéh wy 0.0 0.0
Jwywnpnwybephb
wyn pyntd
- Ywwhwnw npwiw0nphbbp wenwywl webnpuihb 0.0 0.0
YuaquwytpwnipntGbepha
unshuLu4yuu uMuUUSLEN B4 ysuuuNouuwLLN 0.0 0.0
wjn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 0.0 0.0
Owwuwnbbn (pintobihg)
wyn pyntd
- W Gwywuinbtp pintothg 0.0 0.0
N2 hvuvuulvuUL U4sShyuNrh @onN4y oukuutN 0.0 0.0
wyn pynty
<pULuuuu UuhansuenN 0.0 0.0

wjn pyntd
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uGecuuutNh 64 uurLudnMrNiULENh Q6NLRGNNEY, 0.0 0.0
nu{nuLNiy 64 <pyuunrNanty
wjn pyntd
- W vbptOwltn L uwppwynpnidbtn 0.0 0.0
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«LwjwunwOh <wipwwbunnipub 2008 pwywih wbnwywb pnieth dwuhb» ££
optlph 7-nn. hnndwény pjnuobinwhl swiuubph gnpéwrliwywl nwuwywngiwb 08 pwdth 03

fudph 02 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybywé N 5 - | Grwdujwy

Unjntuwy N 08-03-02

Unyntuwy 08-03-02

wjn pYntd pun dpwgntinh

MNEnwywh wewygnipintb
wGwnwywh dwdnth

MGunwywl wowygnipintl
ghunwywb wduwgpbph L

MEnwywl wewygnipintt
«EynGndhywy» hwbntu»

MNEnwywh wewygnipintb
ns wEinwywb dwdnth

UGOhwagnpnipnLbbEph
hpwunwpwydwlp hpwwnwlswan ORL - hb hpwunwpwydwlp
QlnwukOp
nwuh wjn pYntd puwn wyjn pYntd pun wjn pYntd pun wyn pYntd pun
<nnywéh wajwbniip gniiwpp — Jwuwnwnnnltph — Ywuwnwnpnnbbph — Ywuwwnnnbbph — Jwuwnwnnnltph
(hwaqun =3 £ g g
npwdttpnd) [ 5 s g s 3 g s 3 g s
c o c c < c c < c c c c
= EE = F5& S F5& S cE
g EE g S3¢ g S3¢ g EE
= 3 3 = 353 = 353 = 3 3
3 v‘:\,l c 3 3 c C 3 3 c C 3 VSI c
£ 3 £ 223 £ 223 £ 3
a N a s25 a s25 a V5
S Vs S Vs S S
1 3 4 5 7 9
LLAUUGLL DUUGN 161,281.4( 12,027.8 12,027.8| 8,380.7 8,380.7| 7,726.6 7,726.6( 9,275.4 9,275.4
wyn pyntd
QUuBUShY DUuUGN 161,281.4( 12,027.8 12,027.8| 8,380.7 8,380.7| 7,726.6 7,726.6( 9,275.4 9,2754
wyn pyntd
ounusnt@3ntuuNrh G4 UNNPULLLENh QENLRGNNFU 92,805.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Mwjdwbwagnuih0 wy SwewnigyntbGbph dGrppbpnid 92,805.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- StntYwwndwywl SwrewjnienLbbbn 92,805.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
untRURAhULEN 45,576.1| 12,027.8 12,027.8| 8,380.7 8,380.7| 7,726.6 7,726.6( 9,275.4 9,275.4
wjn pynd
Untpuhnhwltbn wewnwywb Yuwgdwybpwnientbbtpho 45576.1( 12,027.8 12,027.8| 8,380.7 8,380.7| 7,726.6 7,726.6( 9,2754 9,2754
wjn pyntd
- Untpuhnhwltn ng $hlwbuwywb wbnwywh 45,576.1| 12,027.8 12,027.8| 8,380.7 8,380.7| 7,726.6 7,726.6( 9,275.4 9,275.4
JuaquwytpwnipntGbephb
anuuucunNLueP 20,400.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynLd
LOpwghy npwiw0nphOtp wewnwywb hwnywdéh wy 20,400.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Jwywnpnwybephb
wjn pyntd
- LOpwghy npwiwtnphlbp wEwnwywb ng weluinpuih 20,400.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JuquwytpwnipntGbephb
usL ouwugP 2,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
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1 2 4 6 8
Ldhpwuwunynipintblbp ng Yurwywnswywb (hwuwpwywywl) 2,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JuquwytpwnipntGbephb
wjn pyntd
- Uyhpwunynipintbbep wy whnyp shGunnwwlnnn 2,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

YuaquwytpwnipntGbepha
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optlph 7-nn. hnndwény pjnuobinwhl swiuubph gnpéwrliwywl nwuwywngiwb 08 pwdth 03
fudph 02 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

Unyntuwy 08-03-02

wjn pYntd pun dpwgntiph

MEnwywl wowygnipntl

Gwiywywb, wbyuwwwnwasywh

pEnRENh L wiuwagntnh

Lpwunwnwynuibtph gény wewnwywo
wwuwinytip

MEnwywb wewygnipntl
«dpwuwnwb» pbpph

hpwunwpwydwip hpwwnwpwydwbp
wjn pYntd puwn wyn pYntd pun wjn pYnLd puwn
<nnywéh wajwbniip — Ywuwnwnnnbbph — Ywunwnnnltph — Ywuwnwnnnbbph
& & 3 &
3 5 2 3 33 2|2 = 3 =
c c c © c S c < c c S c
° ECE = cel g_| §5=| = S F
ol 33z ol S cz | 53¢ ol Qc =
3 =EE 3 sc| 255|225 3 25¢E
=1 S g3 =] Y 23 S5 3 “3 = 3 =1 S5 3
2 E55 2 35| 555|255 32 SES
S S53 S 52| 352|552| 5 v°3
d v°5 a 25| Y 5825 ¢ v o5
S % S S Vv S S
10 11 12 13 14 15 16 17
LLAUUGLL DUUGN 8,165.6 8,165.6| 69,137.1| 45432.2| 13,580.9| 10,124.0| 2,500.0 2,500.0
wyn pynty
QUuBUShY DUuUGN 8,165.6 8,165.6| 69,137.1| 45,432.2] 13,580.9( 10,124.0| 2,500.0 2,500.0
wyn pyntd
ounusnt@3ntuuNrh G4 UNNPULLLENh QENLRGNNFU 0.0 0.0| 69,137.1| 45,432.2| 13,580.9( 10,124.0 0.0 0.0
wyn pyntd
Nuwjiwbwagnwihb wy Swrewjnigintbbbph derpptpned 0.0 0.0 69,137.1| 45,432.2| 13,580.9| 10,124.0 0.0 0.0
wyn pyntd
- StntYwwndwywl SwrewjnienLbbbn 0.0 0.0| 69,137.1| 45,432.2| 13,580.9( 10,124.0 0.0 0.0
untRURAhULEN 8,165.6 8,165.6 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
Untpuhnhwltbn wewnwywb Yuwgdwybpwnientbbtpho 8,165.6 8,165.6 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- Untpuhnhwltn ng $hlwbuwywb wbnwywh 8,165.6 8,165.6 0.0 0.0 0.0 0.0 0.0 0.0
JuaquwytpwnipntGbephb
anuuucunNLueP 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynLd
LOpwghy npwdwzbtnphbbn wewnwywb hwunywdéh wy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Jwywnpnwybephb
wjn pyntd
- COpwghy npwdw0nphObp wewnwywb ng webinpuwih 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JuquwytpwnipntGbephb
usL ouwugP 0.0 0.0 0.0 0.0 0.0 0.0| 2,500.0 2,500.0
wjn pyntd
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10 11 12 13 14 15 16 17
Ldhpwuwunynipintblbp ng Yurwywnswywb (hwuwpwywywl) 0.0 0.0 0.0 0.0 0.0 0.0 2,500.0 2,500.0
JuquwytpwnipntGbephb
wjn pyntd
- Uyhpwunynipintbbep wy whnyp shGunnwwlnnn 0.0 0.0 0.0 0.0 0.0 0.0] 2,500.0 2,500.0
YuaquwytpwnipntGbepha
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Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph
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wyn pYntd puwn dpwantinh
Bwngiwbswywh Uwulwynptgynn
wfuwwnwbpbbph wGwnwywb gnyph
hpwlwGwgiuG Guwtnwlny N hpwywpwlwywb Lwjwuwnwbh hpwywyw
wnbpihOwpwbntwb wnbnGYwunywywb
wenwywl wowygnepntl wnbnGynLgnLblbtnh quINGUgNLA hwdwlwngh qupqugnid
«<££ thnpdwghunwywb hpwwwpwydwb gény
yahuinpnb» MNUY-hG wEwnwywl wwundbp
wyn pYntd puwn wyn pYntd pun wyn pYntd puwn wyn pYntd puwnn
<nnywéh wajwbniip — Jwuwnwnnnltph — Ywuwnwnnnbbph — Ywuwwnpnnbbph — Ywuwnnnbtph
c c c c
c [<& S S c c
g 3 g | 333 5 33 g EE
c & c c E: - c & c c ®c
© g © £33 ) g ) g
5 sE 5 EZZ® 5 S g 5 S
3 ¥ 23 3 332¢ 3 v 23 3 v 23
Vv £ = ] VvV £ VvV £
3 3 3 3c3<c 3 3 3 3
g =¥} g 853 g £3 g £3
a 25 d 3287 da 25 da 25
S v o E‘ S S
3 V3o 3 3
18 19 20 21 22 23 24 25
LLAUUGLL DUUGN 20,400.0 20,400.0| 3,668.2 3,668.2( 2,600.0 2,600.0| 6,900.0 6,900.0
wyn pyntd
QUuBUShY DUuUGN 20,400.0 20,400.0| 3,668.2 3,668.2( 2,600.0 2,600.0| 6,900.0 6,900.0
wyn pyntd
ounusnt@3ntuuNrh G4 UNNPULLLENh QENLRGNNFU 0.0 0.0| 3,668.2 3,668.2( 2,600.0 2,600.0| 6,900.0 6,900.0
wyn pyntd
Nuwjiwbwagnwihb wy Swrewjnigintbbbph derpptpned 0.0 0.0] 3,668.2 3,668.2( 2,600.0 2,600.0| 6,900.0 6,900.0
wyn pyntd
- StntYwwndwywl SwrewjnienLbbbn 0.0 0.0] 3,668.2 3,668.2( 2,600.0 2,600.0| 6,900.0 6,900.0
untRURAhULEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
Untpuhnhwltbn wewnwywb Yuwgdwybpwnientbbtpho 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- Untpuhnhwbtp ng phbwbuwywb wbnmwywh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JuaquwytpwnipntGbephb
anuuucunNLueP 20,400.0 20,400.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynLd
LOpwghy npwiw0nphOtp wewnwywb hwnywdéh wy 20,400.0 20,400.0 0.0 0.0 0.0 0.0 0.0 0.0
Jwywnpnwybephb
wjn pyntd
- LOpwghy npwiwtnphlbp wEwnwywb ng weluinpuih 20,400.0 20,400.0 0.0 0.0 0.0 0.0 0.0 0.0
JuquwytpwnipntGbephb
usL ouwugP 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
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18 19 20 21 22 23 24 25
Ldhpwuwunynipintblbp ng Yurwywnswywb (hwuwpwywywl) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JuquwytpwnipntGbephb
wjn pyntd
- Uyhpwunynipintbbep wy whnyp shGunnwwlnnn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
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26 27
LLAUUGLL DUUGN 10,500.0 10,500.0
wyn pyntd
QUuBUShY DUuUGN 10,500.0 10,500.0
wyn pyntd
ounusnt@3ntuuNrh G4 UNNPULLLENh QENLRGNNFU 10,500.0 10,500.0
wyn pyntd
Mwjdwbwagnuih0 wy SwewnigyntbGbph dGrppbpnid 10,500.0 10,500.0
wyn pyntd
- SbnGYwwnywywb swewjnipyntbltn 10,500.0 10,500.0
untRURAhULEN 0.0 0.0
wjn pynd
Untpuhnhwltbn wewnwywb Yuwgdwybpwnientbbtpho 0.0 0.0
wjn pyntd
- Unitpuhnhwtp ng $howbuwywb wybunwywb 0.0 0.0
JuaquwytpwnipntGbephb
anuuucunNLueP 0.0 0.0
wjn pynLd
LOpwghy npwiw0nphOtp wewnwywb hwnywdéh wy 0.0 0.0
Jwywnpnwybephb
wjn pyntd
- COpwghy npwdw0nphObp wewnwywb ng webinpuwih 0.0 0.0
JuquwytpwnipntGbephb
usL ouwugP 0.0 0.0
wjn pyntd
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Ldhpwuwunynipintblbp ng Yurwywnswywb (hwuwpwywywl) 0.0 0.0
JuquwytpwnipntGbephb
wjn pyntd
- Uyhpwunynipintbbep wy whnyp shGunnwwlnnn 0.0 0.0
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1 2 3
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wjn pynd
LUuBUSHhY DUUGN 11,154.0( 11,154.0 11,154.0
wjn pyntd
untRURAhULEN 11,154.0( 11,154.0 11,154.0
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 11,154.0( 11,154.0 11,154.0
wjn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 11,154.0( 11,154.0 11,154.0
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[SEEC
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1 3
LLAUUGLL DUUGN 68,569.1| 68,569.1 68,569.1
wyn pyntd
LUuBUSHhY DUUGN 68,569.1| 68,569.1 68,569.1
wyn pyntd
untRUhLAhULEGN 68,569.1| 68,569.1 68,569.1
wyn pyntd
Untpuhnhwbtp wtnwywb YuwqdwybpwnipintGGephb 68,569.1| 68,569.1 68,569.1
wjn pyntd
- Untpuhnhwbp ng $howbuwywb wEunwywb 68,569.1| 68,569.1 68,569.1
Ywagiwytnwnigntbbtphb

{wybywé N 5 - | Grwdujwy
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Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

wyn pYnLd puwn Spwantiph
Ujntpwlwb wowygnipnth <&
Uqquihb dnnnyh
MNGinwywl wowygnipntl pGunpnignLbbBpned 3 L wybih MEnwywl wewygnipintl
waqwhb wnnynu dwyb hwy wpwé hwuwpwywywb
thnppwiwubnipintbb6phb Yntuwygnipintbotph L YwaqiwybpwnipntGubph
Ynruwygnipntbbbph
COnwikp nwhbplbphG
nwuh w
Jn pYntd puwnn wyn pYntd puwn wjn pYntd pun
<nnywoh wiywanudp ?RS::L}? = Jwuwwpnnbbph z Jwuwwnpnnbtph = Jwuwwpnnbbph
wilkpn 5 o 5 5
nn nny) g 3. g = g g s
5 =g 5 EcE 5 £%
= E: =] s 3 c ol TS
15 5 S < 15
3 =5 =1 32 3 =1 25
2 23 2 S55 2 33
& 35 & 552 g =
<73 M g v 3
v
1 2 3 4 5 6 7
pLAUUGLL DUuUGN 69,795.8 10,000.0 10,000.0 34,795.8 34,795.8 25,000.0 25,000.0
wyn pyntd
LULBUSHhY DUUGN 69,795.8 10,000.0 10,000.0 34,795.8 34,795.8 25,000.0 25,000.0
wyn pyntd
usL ouwugr 69,795.8 10,000.0 10,000.0 34,795.8 34,795.8 25,000.0 25,000.0
wyn pyntd
Lyhpwunynigntbbbp ng uwrwdwnswywb (hwuwnwywywh) 69,795.8 10,000.0 10,000.0 34,795.8 34,795.8 25,000.0 25,000.0
JuaquwytpwnipntGbephb
wyn pyntd
- Lyhpwuwnynipintbbep wy whnyp shGunwwlbnnn 69,795.8 10,000.0 10,000.0 34,795.8 34,795.8 25,000.0 25,000.0
YuaquwytpwnipntGbepha
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«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4

optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 06

fudph 01 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybywé N 5 - | Grwdujwy
Unjntuwy N 08-06-01

wyn pYnLy puwn dpwignbiph
Qnpéwnhn hzfuwlntpjub,
wEtwnwywl ywrwywpdiwb
hwlpwwbunwywb L
nwnwépwiht Yurwywpiwl
dwnahbabph ywhwwOnd
(OwpuwpwpnigNLbbtph
COnwidklp wfuwwnwywaqitiph dwuny)
wu
<nnywéh waqwbnidp qr?uju.lr;n wyn pun.d putn
(hwquip = Jwuwwpnnbbph
nnwidatnny) § s 3 s
5 | 88 |2E.¢
g gz | SEEE
S -0 ccbco
E 22 | 532
N V- N B
a V'3 Vv = 3
[t ) J% [t )
1 2 3 4
pLAUUGLL DUuUGN 96,192.9| 96,192.9| 62,168.9 34,024.0
wyn pyntd
LULBUSHhY DUUGN 94,541.2| 94,541.2| 62,168.9 32,372.3
wyn pyntd
uchuusuueh yurusrni@3ntu 76,558.1| 76,558.1| 51,111.0 25,447 1
wyn pyntd
Mwdny JAwnpynn wziuwwnmwywnpébn b hwdGjudgwnbbn 66,640.9| 66,640.9| 44,559.9 22,081.0
wjn pynd
- UpuwuwnnnlObph wuwwnwywndbn b hwybwyfwpbbn 44,593.1( 44,593.1( 29,023.1 15,570.0
- Pwnwpwghwywl, nwunwywb b yenwwl wy 22,047.8| 22,047.8 15,536.8 6,511.0
Swrwjnnubph wwpglwwnpnid
Quwuwnwgh unghwjwywl wwwhnynipjwb yswnbbp 9,917.2( 9,917.2 6,551.1 3,366.1
(gnpéwunnth Ynndhg)
ounusnt@3ntuuNrh G4 UNNPULLLENh QENLRGNNFU 17,983.1 17,983.1 11,057.9 6,925.2
wjn pyntd
Cwpnibwywywb dwfuubn 6,938.5( 6,938.5| 3,4314 3,507.1
wyn pyntd
- toGpgbuinhy Swrwynigntbbbn 4,087.4| 4,087.4| 1,693.4 2,394.0
- UnintOw| Swrwjnipintblen 216.9 216.9 169.7 47.2
- Ywuwh Swrwjnieintbbbn 2,4429| 24429 1,377.0 1,065.9
- @nuph L uwppwynpniibbph yuwpdwywinipntb 191.3 191.3 191.3 0.0
Anpéninnuibbph L 2powgquinipintbbbph dwiuubp 2,333.9| 2,333.9] 1,161.9 1,172.0
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1 2 3 4
Nuwydwbwagnuiht wy Swewnupyntb0bph dGrpptpnid 6,582.4 6,582.4| 4,927.2 1,655.2
wyn pyntd
- Yuwnswywb swrwjnipintbbbn 260.0 260.0 0.0 260.0
- <wiwywpgswihb SwewnipnLbG6p 2,302.8( 2,302.8 931.6 1,371.2
- SbnGYwwnywywb swewjnipyntbOtn 105.6 105.6 81.6 24.0
- LUnhwntp pOniph wy SwrwjnipINLOGEN 3,914.0( 3,914.0] 3,914.0 0.0
LOpwghy Gnpngned L wwhwwOnid (Swewjnipintaabn L 194.5 194.5 150.4 441
Qynupkin)
wjn pyntd
- Ubptbwatph L uwppwynnpniibbph ppwghy Gnpngned L 194.5 194.5 150.4 441
wwhww(nid
Ujniptin 1,933.8| 1,933.8| 1,387.0 546.8
wjn pyntd
- Qpwubluywihb Gneebp L hwagniuwn 852.3 852.3 533.8 318.5
- Spwluwnpuwhb Onipbn 993.5 993.5 800.0 193.5
- UGagwnwihb L hwbOpwihb ubGnh OneRtN 88.0 88.0 53.2 34.8
N2 hvUuuyuUL U4ShduNrh aond oukuutnN 1,651.7] 1,651.7 0.0 1,651.7
wyn pyntd
<pULuuuuL un2nsuenN 1,651.7| 1,651.7 0.0 1,651.7
wyn pyntd
UGecuLuLLtNh G4 uureudnrniluENh Q6NRPENNEU, 1,651.7] 1,651.7 0.0 1,651.7
nu{muLNiy 64 <huuunrnanty
wyn pyntd
- Ywpswywb uwppwynpniibbn 1,651.7| 1,651.7 0.0 1,651.7
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